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= = UE D\ 7 YE A\ T | = = TE AN = TR AN = [ =
1 100kN/m#E#BZ % 1.00| 0.00 ~ 0.96 11442 |3m%EF{BR S -~ — — —| 100kN/m%#E%%| 1.00 [10.66 ~ 13.76 11442 |3m%EF{BR S -~ - — —
Th s 1.00| 096 ~ 8.75 100.00 | £h st | 000 ~ 875 | 2.11 10.66 zh s 1.00 | 500 ~ 10.66 100.00 | ZhList | 5.00 ~ 13.76 | 2.11 10.66
2 100kN/m#E#BZ % 1.00| 0.00 ~ 140 121.27 |3m%EFRBZ S -~ — — —| 100kN/m%#E%%| 1.00 [11.14 ~ 15.76 121.27 |3m%EF{BZ S -~ - — —
Th s 1.00| 140 ~ 9.19 100.00 | Zhiist | 000 ~ 9.19 | 257 13.01 zh s 1.00| 5.00 ~ 11.14 100.00 | Zh st | 500 ~ 1576 | 2.57 13.01
3 100kN/m#E#BZ % 1.00| 000 ~ 156 123.86 |3mEFkEZ S -~ — — —| 100kN/m%#E%%| 1.00 [10.55 ~ 15.76 123.86 |3mZEF{EZ S -~ - — —
Th s 1.00] 156 ~ 9.35 100.00 | Zh st | 000 ~ 935 | 241 12.19 zhs 1.00 | 500 ~ 10.55 100.00 | Zh st | 500 ~ 1576 | 2.41 12.19
4 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ - — —
Th s 1.00| 000 ~ 7.32 9334 | #h L4t | 000 ~ 0.00 | 1.68 8.51 Th s 1.00| 500 ~ 9.60 9334 | #h U4t | 500 ~ 960 | 1.68 8.51
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#B 2 % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImZHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImZHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImzHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/m#E#B 2 % ~ 3ImEHEZD ~ 100kN/m%E#B 2 % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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